Operating Instructions Manual



schultz_su
Sticky Note
50 lb. white
8-1/2 x 11 landscape
2-sided
Black ink only 
No bleed
No drill
Fold to a final size of 8-1/2 high x 5-1/2 wide booklet style 

ADD BLANK PAGES AT THE END FOR SIGNATURE IF NEEDED. TRIM AS NEEDED.  

The creation of this PDF was necessitated because of the page creep AND page count. Trimming was cutting off information on the interior pages.  InnerWorkings requested the PDF be recreated. Do not include printer's marks and increase the bleed to .25 inch.  This will allow for the printer to adjust and account for page creep

Updated 10/14/2021


PLEASE READ AND SAVE
THESE INSTRUCTIONS.
READ CAREFULLY

BEFORE ATTEMPTING

TO ASSEMBLE, INSTALL,
OPERATE OR MAINTAIN THE
PRODUCT DESCRIBED.

PROTECT YOURSELF AND
OTHERS BY OBSERVING ALL
SAFETY INFORMATION. FAILURE
TO COMPLY WITH INSTRUCTIONS
COULD RESULT IN PERSONAL
INJURY AND/OR PROPERTY
DAMAGE! RETAIN INSTRUCTIONS
FOR FUTURE REFERENCE.

PLEASE REFER TO BACK COVER
FOR INFORMATION REGARDING
DAYTON’S WARRANTY AND OTHER
IMPORTANT INFORMATION.

Model #:

Serial #:

Purch. Date:

Form 585212/ Printed in USA
484746 Version 2  10/2021
© 2004-2021 Dayton Electric Manufacturing Co.
All Rights Reserved



o]

BEFORE YOU BEGIN

Tools Needed:
. Two 3/4" wrenches or hex sockets
. 9/16" wrench or hex socket

. 1/2" wrench or hex socket

@
m
-
=
=z
@
4
>
A
|
m
O

. 7/16" wrench or hex socket
. #12 self-drilling screws (qty: 28) and a bit to drive them (5/16")

UNPACKING

‘@ Included Fasteners

SNOILVJIdID3dS
[ AL34VS

Qty |Description
2 [1/4"-20 x 1-1/2" L hex bolt
2 |1/4"-20 serrated flange nut
8 [5/16"-18 x 3/4" L weld stud = >
8 |5/16"-18 x 3/4" L serrated flange hex bolt* g 8
16 |5/16"-18 serrated flange nut = E
2 |3/8"-16 x 3/4" L serrated flange hex bolt :E. ,U_’
2 |3/8"-16 x 5" L hex bolt* g =
6 |3/8"-16 serrated flange nut
2 |3/8"-16 nylon insert locknut*
4 |3/8" ID flat washer*
2 [1/2"-13 x 2" L hex bolt
2 [1/2"13 nylon insert locknut S
10 |1/2" ID flat washer i
*Not included in kits for 30" base size (56JN73) g
2
NOTE: If fan is connected to electrical source via rigid connection,
a qualified electrician will need to change the rigid connection to a
flexible connection long enough per local electrical codes to allow
for fan movement. :-U|
g
Disconnect power and observe proper lockout -
| A WARNING tagout procedures per OSHA Regulation, m
Title 29 Code of Federal Regulations Part 1910.147 & 1910.333. g
£
5

Inspect:

. After unpacking unit, inspect carefully for any damage that may have
occurred during transit. Check for loose, missing, or damaged parts.
Shipping damage claim must be filed with carrier.

dlvd3d
/ IONVNILNIVIN



Part Number for Direct Drive Fan Models:

56JN73

56JN88, 56JN89, 56JN90
Part Number for Belt Drive Fan Models:
56JN73 56JN74 56JN75
56JN98, 56JN99, 56JP01, 56JP09, 56JP10, 56JP11, 56JN96
56JP02, 56JP03, 56JN93, 56JP12, 56JP13, 56JN95

56JP04, 56JP05, 56JP06,
56JP07, 56JP08, 56JN94

GETTING STARTED

SAFETY /
SPECIFICATIONS

HINGE KIT ASSEMBLY COMPONENTS

Label Description Qty
A Curb Cap Brace
B Curb Cap Hinge
C Hinge Plate
D Hinge Brace*
E Draw Latch 2
*Not included in kits for 30" base size (56JN73)

NIN[ININ

5
u1]
=
w
0
()
<

INSTALLATION

P4
o
2
1]
o
(o]
5/16"-18 x 3/4" L
E’é 1|/2"'1 3 >r(12" weld stud & flange nuts
olts, washers w_ "
&lock nuts 5/16"-18 x 3/4" L bolts R g Lot
] & flange nuts
Z ©n ge nu
|—
o
g 3/8"-16 x 5" L bolt,
(2] 3x Self-drilling N flange nut, & lock nut
B 5x Self-drilling
m 5/16"-18 x 3/4" L
8 weld stud & flange nuts
14
-

= Curb cap hinge only
included with 56JN73

MAINTENANCE /
REPAIR



Dayton]
INSTALLATION INSTRUCTIONS

NOTE: It is recommended that sidewall hinging hardware is installed
to the fan and curb in a vertical position before orienting in a sidewall
position. This will ensure proper alignment.

d31YVLS ONILLID

1. Before placing the unit on top of the curb and assembling this kit, install
the 5/16"-18 X 3/4" L weld studs into the curb cap holes located about
4" from the corners, eight in total. See Figure 1.

SNOILVJIdID3dS
[ AL34VS

Figure 1

2. Fasten a 5/16"-18 flange nut finger tight on each weld stud so the stud
heads are flush to the inner surface of the curb cap. When all weld
studs are installed, place the unit on top of the curb and remove the
flange nuts.

=
a5
>0
Eg
32
o-<
oX

3. Attach curb cap braces by removing two bolts from the fans vertical
supports. Center brace over curb cap and attach with two vertical
support bolts and along the curb cap brace, loosely install two flange
nuts on the weld studs installed on Step 1. Repeat this step for other
side of fan. See Figure 2.

o
v
i e o —— 6} m
Figure 2 §
=
o
) 4
Remove both vertical support bolts
(7/16" wrench) before mounting
each curb cap brace
—|
A
o
Cc
v}
-
m
(7]
o5
(o]
o
o
4
@

dlvd3d
/ IONVNILNIVIN



GETTING STARTED

SAFETY /
SPECIFICATIONS

5
o
=
L
0
()
<

INSTALLATION

TROUBLESHOOTING OPERATION

MAINTENANCE /
REPAIR

oo

The “hinged side” of the curb cap hinge is the end which has two holes
close together similar to the holes in the hinge plate. Opposite of the
hinged side, align the hole of the curb cap hinge with the tab hole of the
curb cap brace and loosely install 3/8"-16 X 3/4" L bolt and flange nut.
Repeat this step on the opposite side of the fan.

NOTE: For sidewall hinging applications, it is recommended
that curbs have an undersizing of 1/2" for base sizes of 30"
and 1" undersizing for base sizes of 34" to 40".

Insert four 5/16"-18 X 3/4" L hex bolts into the holes on the upward
flanges of the curb cap hinge and into the slots of the curb cap hinge
and fasten flange nuts securely onto them. Repeat this step on the
other side of the fan. These fasteners can be seen in Figure 2. This
step does not pertain to kit 56JN73.

Before installing hinge components, ensure a majority of space
between the curb and curb cap is on the side opposite from the
breather tube and grease trough to account for sagging when hung.

On the side chosen for hinging, insert a 1/2"-13 x 2.5" L bolt with
washer through the curb cap hinge, hinge plate, and curb cap brace.
Install one washer between the hinge plate and curb cap brace.

Install an additional washer on the inside of the lower hinge bracket.
See Figure 3. When the 1/2" bolt appears to easily move in and out
of its hole, secure the hinge plate to the curb using six self-drilling
screws in the six 1/4" holes on the plate. Repeat this step for the other
hinged side.

Figure 3

Fill spaces between hinge
plate and curb cap brace
with 1/2" washers



o]

9. Using the 1/2"-13 hex bolt for alignment, line up the hinge brace
so the locking holes allow for the 1/4"-20 x 1.5" L lock bolt to pass
through and secure the hinge closed. Also ensure that the 1/2" bolt
can easily be put through the curb cap hinge, hinge plate, curb cap
brace, and hinge brace. Attach the hinge brace to curb using three
self-drilling screws in the three 1/4" holes on the brace, see Figure 4,
Detail C.

d31YVLS ONILLID

Repeat this step for the other hinged side. The hinge brace is not
included in 56JN73.

@

SNOILVJIdID3dS
[ AL34VS

— TH
® 9
(V)
- [ 4 ¢
Loc \ /
Holes 3x Self-drilling

=
a5
>0
Ez
32
o-<
oX

NOILVY3dO

10. With all hinge components installed, place a 1/2" washer on the 1/2"
bolt and secure the nylon lock nut. Be sure that it is not too tight to
where it is difficult to open the hinge, this may also result in too much
stress on hinge components. Figure 5 shows a completed hinge.

|

el

ONILOOHS3TaNn0od 1L

Figure 5

dlvd3d
/ IONVNILNIVIN



GETTING STARTED

SAFETY /
SPECIFICATIONS

5
o
=
L
0
()
<

INSTALLATION

TROUBLESHOOTING OPERATION

MAINTENANCE /
REPAIR

oo

1.

12.

On the side which is not hinged, position the draw latch as shown in
Figure 6, Detail E with the 3/8"-16 X 5" L hex bolt, 3/8" washer, and a
flange nut. Draw the flange nut into the draw latch, the nut should be
backwards, allowing the flange to act as a catch.

Bring the draw latch towards the curb cap hinge until the forward
facing flanges are a little more than 1/8" away as shown in Figure 6,
Detail E. Install four self-drilling screws into the 1/4" holes, remove
the 3/8"-16 X 5" L bolt, and drive the last self-drilling screw into the
remaining hole.

13.
14.

15.

16.

Leave a 1/8"-1/4" gap
between draw latch flanges
and curb cap hinge

Repeat steps 11 and 12 on the other side of the unit.

Ensure all nuts/bolts are tightened. Remove the self-drilling screws
from the hinge braces, hinge plates, and draw latches. Remove the fan
from the curb.

Following curb manufacturer installation instructions, install the

curb through the wall. Make sure the curb is installed in the correct
orientation for left of right outward opening (not downward or upward),
marking a wall face on the curb as “Top” or “Bottom” may help.

Orient the fan on the curb with the breather tube facing downward.
Reinstall the self-drilling screws.



o]

17. The draw latch and lock bolts/nuts in lock holes are the means
for securing the hinged unit in a closed position. Reinstall the
3/8"-16 X 5" L bolt, washer, and reverse facing flange nut. Place a
washer and 3/8"-16 nylon lock nut on the end of the 3/8"-16 X 5" L
bolt as seen in Figure 6, Detail E, this will prevent the flange nut from
being run off the end of the bolt and falling.

d31YVLS ONILLID

18. Figures 7 and 8 show where the locking bolt should be utilized to lock
the hinge kit either open or closed. Ensure that each bolt is securely
fastened to the bracketry using the provided serrated flange nuts for
the most effective results.

7
m
23
O,
&
3=
o\
2
(72}

© Figure 7 Figure 8
Pivot Point ﬂﬂ Pivot Point
b - =
o © 4
d O ‘ (ﬁ 5
[¢) > (7]
o) o] - m
© © ina Poi C=
Locking Point > m
Locking Point = LD
(o) o] g ~
(o] o]
| A CAUTION 9
m
When hinging fan open, lock bolts must be inserted in the lock-hole a
positions and secured to prevent sudden closure. 5
o
Forcible hinging of fan may result in damage to the fan curb cap. 4
Take caution when hinging fan.
_|
A
(@]
&
3/8"-16x 5" L
bol?s ileplaie in E
the curb cap wn
o5
o
(@]
d
4
@

Breather tube
and grease

trough facing
downward 7

dlvd3d
/ IONVNILNIVIN



DAYTON ONE-YEAR LIMITED WARRANTY

DAYTON ONE-YEAR LIMITED WARRANTY. All Dayton® product models covered in this manual are
warranted by Dayton Electric Mfg. Co. (“Dayton”) to the original user agai hip or
materials under normal use for one year after date of purchase. If the Dayton product is part of a set, only the
portion that is defective is subject to this warranty. Any product or part which is determined to be defective
in material or workmanship and returned to an authorized service location, as Dayton or Dayton’s designee
designates, shipping costs prepaid, will be, as the exclusive remedy, repaired or replaced with a new or
reconditioned product or part of equal utility or a full refund given, at Dayton’s or Dayton’s designee’s option,
at no charge. For limited warranty claim procedures, see “Warranty Service” below. This warranty

is void if there is evidence of misuse, mis-repair, mis-installation, abuse or alteration. This warranty does

not cover normal wear and tear of Dayton products or portions of them, or products or portions of them
which are consumable in normal use. This limited warranty gives purchasers specific legal rights, and

you may also have other rights which vary from jurisdiction to jurisdiction

WARRANTY DISCLAIMERS AND LIMITATIONS OF LIABILITY RELATING TO ALL
CUSTOMERS FOR ALL PRODUCTS

LIMITATION OF LIABILITY. TO THE EXTENT ALLOWABLE UNDER APPLICABLE LAW, DAYTON’S
LIABILITY FOR CONSEQUENTIAL AND INCIDENTAL DAMAGES IS EXPRESSLY DISCLAIMED. DAYTON’S
LIABILITY IN ALL EVENTS IS LIMITED TO AND SHALL NOT EXCEED THE PURCHASE PRICE PAID.

WARRANTY DISCLAIMER. A DILIGENT EFFORT HAS BEEN MADE TO PROVIDE PRODUCT INFORMATION
AND ILLUSTRATE THE PRODUCTS IN THIS LITERATURE ACCURATELY; HOWEVER, SUCH INFORMATION
AND ILLUSTRATIONS ARE FOR THE SOLE PURPOSE OF IDENTIFICATION, AND DO NOT EXPRESS OR
IMPLY A WARRANTY THAT THE PRODUCTS ARE MERCHANTABLE, OR FIT FOR A PARTICULAR PURPOSE,
OR THAT THE PRODUCTS WILL NECESSARILY CONFORM TO THE ILLUSTRATIONS OR DESCRIPTIONS.
EXCEPT AS PROVIDED BELOW, NO WARRANTY OR AFFIRMATION OF FACT, EXPRESSED OR IMPLIED,
OTHER THAN AS STATED IN THE “LIMITED WARRANTY” ABOVE IS MADE OR AUTHORIZED BY DAYTON.

PRODUCT SUITABILITY. MANY JURISDICTIONS HAVE CODES AND REGULATIONS GOVERNING SALES,
CONSTRUCTION, INSTALLATION, AND/OR USE OF PRODUCTS FOR CERTAIN PURPOSES, WHICH MAY VARY
FROM THOSE IN NEIGHBORING AREAS. WHILE ATTEMPTS ARE MADE TO ASSURE THAT DAYTON PRODUCTS
COMPLY WITH SUCH CODES, DAYTON CANNOT GUARANTEE COMPLIANCE, AND CANNOT BE RESPONSIBLE
FOR HOW THE PRODUCT IS INSTALLED OR USED. BEFORE PURCHASE AND USE OF A PRODUCT, REVIEW
THE SAFETY/SPECIFICATIONS, AND ALL APPLICABLE NATIONAL AND LOCAL CODES AND REGULATIONS,
AND BE SURE THAT THE PRODUCT, INSTALLATION, AND USE WILL COMPLY WITH THEM.

CONSUMERS ONLY. CERTAIN ASPECTS OF DISCLAIMERS ARE NOT APPLICABLE TO CONSUMER
PRODUCTS SOLD TO CONSUMERS; (A) SOME JURISDICTIONS DO NOT ALLOW THE EXCLUSION OR
LIMITATION OF INCIDENTAL OR CONSEQUENTIAL DAMAGES, SO THE ABOVE LIMITATION OR EXCLUSION
MAY NOT APPLY TO YOU; (B) ALSO, SOME JURISDICTIONS DO NOT ALLOW A LIMITATION ON HOW LONG
AN IMPLIED WARRANTY LASTS, SO THE ABOVE LIMITATION MAY NOT APPLY TO YOU; AND (C) BY LAW,
DURING THE PERIOD OF THIS LIMITED WARRANTY, ANY IMPLIED WARRANTIES OF MERCHANTABILITY
OR FITNESS FOR A PARTICULAR PURPOSE APPLICABLE TO CONSUMER PRODUCTS PURCHASED BY
CONSUMERS, MAY NOT BE EXCLUDED OR OTHERWISE DISCLAIMED.

THIS LIMITED WARRANTY ONLY APPLIES TO UNITED STATES PURCHASERS FOR DELIVERY IN THE UNITED
STATES.

WARRANTY SERVICE

Aofart.

in work

To obtain warranty service if you purchased the covered product directly from W.W. Grainger, Inc.
(“Grainger”), (i) write or call or visit the local Grainger branch from which the product was purchased or
another Grainger branch near you (see www.grainger.com for a listing of Grainger branches); or (ii) contact
Grainger by going to www.grainger.com and clicking on the “Contact Us” link at the top of the page, then
clicking on the “Email us” link; or (iii) call Customer Care (toll free) at 1-888-361-8649. To obtain warranty
service if you purchased the covered product from another distributor or retailer, (i) go to www.grainger.com for
Warranty Service; (ii) write or call or visit a Grainger branch near you; or (iii) call Customer Care

(toll free) at 1-888-361-8649. In any case, you will need to provide, to the extent available, the purchase date,
the original invoice number, the stock number, a description of the defect, and anything else specified in this
Dayton One-Year Limited Warranty. You may be required to send the product in for inspection at your cost.
You can follow up on the progress of inspections and corrections in the same ways. Title and risk of loss pass
to buyer on delivery to common carrier, so if product was damaged in transit to you, file claim with carrier, not
retailer, Grainger or Dayton. For warranty information for purchasers and/or delivery outside the

United States, please use the following applicable contact information:

Dayton Electric Mfg. Co.,

100 Grainger Parkway, Lake Forest, IL 60045 U.S.A.
or call +1-888-361-8649

DM_US 44930530-6.019350.0029 OCTOBER 2021






POR FAVOR,

LEA Y GUARDE ESTAS
INSTRUCCIONES.

LEALAS CUIDADOSAMENTE ANTES
DE TRATAR DE MONTAR, INSTALAR,
OPERAR O DAR MANTENIMIENTO
AL PRODUCTO AQUI DESCRITO.

PROTEJASE USTED MISMO Y
A LOS DEMAS OBSERVANDO
TODA LA INFORMACION DE
SEGURIDAD. jEL NO CUMPLIR
CON LAS INSTRUCCIONES
PUEDE OCASIONAR DANOS,
TANTO PERSONALES COMO
A LA PROPIEDAD! GUARDE
ESTAS INSTRUCCIONES PARA
REFERENCIA EN EL FUTURO.

CONSULTE LA CUBIERTA
POSTERIOR PARA VER

LA INFORMACION DE
GARANTIA DE DAYTON Y OTRA
INFORMACION IMPORTANTE.

Nuam. de Modelo:
Nuam. de Serie:

Fecha de Compra:

Formulario 585212 / Impreso en EE.UU.
484746 Version 2 10/2021
© 2004-2021 Dayton Electric Manufacturing Co.
Todos los derechos reservados



Dayton|

ANTES DE COMENZAR

Herramientas Necesarias:
. Dos llaves o dados hexagonales de 3/4 pulg.
. Llave o dado hexagonal de 9/16 pulg.

. Llave o dado hexagonal de 1/2 pulg.

=
—'
P
(©)
o
c
o
2]
o
z

. Llave o dado hexagonal de 7/16 pulg.

. Tornillos autorroscantes n.° 12 (cant.: 28) y una broca para instalarlos
(5/16 pulg.)

DESEMBALAJE

Sujetadores incluidos

S3NOIJVIIHI03dS3
/[ avapnNo3as

@ Cant. |Descripcion
2 Perno hexagonal de 1/4 pulg.-20 x 1-1/2 pulg. L
2 Tuerca con reborde dentado de 1/4 pulg.-20
8 Remache soldado de 5/16 pulg.-18 x 3/4 pulg. L =
8 Perno hexagonal con reborde dentado de 5/16 pulg.-18 x 3/4 pulg. L (_IJ| g
16 | Tuerca con reborde dentado de 5/16 pulg.-18 > 5
2 Perno hexagonal con reborde dentado de 3/8 pulg.-16 x 3/4 pulg. L % z
2 Perno hexagonal de 3/8 pulg.-16 x 5 pulg. L* o T
6 Tuerca con reborde dentado de 3/8 pulg.-16 =
2 Contratuerca con inserto de nylon de 3/8 pulg.-16*
4 Arandela plana de 3/8 pulg. de D.I.
2 Perno hexagonal de 1/2 pulg.-13 x 2 pulg. L
2 Contratuerca con inserto de nylon de 1/2 pulg.-13
10 |Arandela plana de 1/2 pulg. de D.I.
*No se incluye en los juegos para tamafio de base de 30 pulg. (56JN73)

NOIOVd3dO

NOTA: Si el ventilador esta conectado a una fuente eléctrica por medio de una
conexion rigida, un electricista calificado debera cambiar la conexién rigida a
una conexion flexible lo suficientemente larga conforme a los coédigos eléctricos
locales para permitir el movimiento del ventilador.

‘ A ADVERTENCIA Desconecte la energia y acate los procedimientos
adecuados de bloqueo y etiquetado, conforme al

Reglamento de OSHA, Titulo 29 Cédigo de Reglamentos Federales Parte
1910.147 y 1910.333.

SVYIN3T190dd 3d
NOIOVOIdILN3al

Revise:

. Después de desembalar la unidad, revise cuidadosamente si existen dafios que
se puedan haber producido durante el transporte. Revise si hay partes sueltas,
faltantes o dafiadas. Se debe presentar cualquier queja por dafios de transporte
a la empresa de transporte.

NOIOVdVd3y
/ OLN3ININILNVIN



PARA COMENZAR

SEGURIDAD /
ESPECIFICACIONES

~35
$6
55
o5
=z

OPERACION

IDENTIFICACION
DE PROBLEMAS

MANTENIMIENTO /
REPARACION

Numero de pieza para modelos de ventiladores de transmision directa:
56JN73

56JN86, 56UN97, 56JN87,
56JN88, 56JN89, 56JN90
Numero de pieza para modelos de ventiladores con transmision por correa:

56JN73 56JN74 56JN75

56JN98, 56JN99, 56JP01, 56JP09, 56JP10, 56JP11, 56JN96
56JP02, 56JP03, 56JN93, 56JP12, 56JP13, 56JN95
56JP04, 56JP05, 56JP06,
56JP07, 56JP08, 56JN94

COMPONENTES DE MONTAJE DEL JUEGO DE BISAGRA

Etiqueta Descripcion Cant.

A Anclaje de Tapa de Base de Montaje 2

B Bisagra de Tapa de Base de Montaje 2

C Placa de Bisagra 2

D Anclaje de Bisagra® 2

E Picaporte 2
*No se incluye en los juegos para tamario de base de 30 pulg.
(56JN73)

Remache soldado de

2 Pernos de 5/16"-18 x 3/4" L

; :gnggaxs %{ L, Pernos de y tuercas con reborde

contratuercas 5/36 ~18x 3/4 t a Perno de 3/8"-16 x 3/4" L
Y tuercas con reborde y tuerca con reborde

Perno de 3/8"-16 x 5" L,
tuerca con reborde y

3 Autorroscantes contratuerca

5 Autorroscantes

La bisagra de la tapa de la base
de montaje solo se incluye con 56JN73

5/16"-18 x 3/4" Ly
tuercas con reborde




Dayton|

INSTRUCCIONES DE INSTALACION

NOTA: Se recomienda que las piezas metalicas de bisagra en pared lateral se
instalen en el ventilador y la base de montaje en posicion vertical antes de
orientar en posicion de pared lateral. Esto asegurara la alineacion adecuada.

UVZN3IINOD Vivd

1. Antes de colocar la unidad en la parte superior de la base de montaje y montar
este juego, instale los remaches soldados de 5/16 pulg.-18 x 3/4 pulg. L en los
orificios de la tapa de la base de montaje, aproximadamente a 10 cm de las
esquinas, ocho en total. Consulte la Figura 1.

S3NOIJVIIHI03dS3
/[ avapnNo3as

Figura 1

2. Instale la tuerca con reborde de 5/16 pulg.-18 con los dedos en cada remache
soldado, de modo que la cabeza de los remaches quede a ras con la superficie
interior de la tapa de la base de montaje. Cuando todos los remaches soldados
estén instalados, coloque la unidad en la parte superior de la base de montaje y
retire las tuercas con reborde.

/ ArVLNON

Z
9
>
>
>
Q
o
=

3. Parainstalar los anclajes de la tapa de la base de montaje, retire los dos pernos
de los soportes verticales de los ventiladores. Centre el anclaje sobre la tapa de
la base de montaje e instale con dos pernos de soporte vertical y, a lo largo del
anclaje de la tapa de la base de montaje, instale holgadamente dos tuercas con
reborde en los remaches soldados instalados en el Paso 1. Repita este paso en
el otro lado del ventilador. Consulte la Figura 2.

Figura 2 TS 6/

NOIOVd3dO

Retire los pernos de soporte vertical
(llave de 7/16") antes de montar cada
anclaje de la tapa de la base

de montaje

SVYIN3T190dd 3d
NOIOVOIdILN3al

NOIOVdVd3y
/ OLN3ININILNVIN



PARA COMENZAR

SEGURIDAD /
ESPECIFICACIONES

N

w
2
-
4
o
=

INSTALACION

OPERACION

IDENTIFICACION
DE PROBLEMAS

MANTENIMIENTO /
REPARACION

Dayton|

El “lado con bisagra” de la bisagra de la tapa de la base de montaje es el
extremo que tiene dos orificios cerca entre si, similares a los orificios en la placa
de bisagra. En el lado contrario al lado con bisagra, alinee el orificio de la bisagra
de la tapa de la base de montaje con el orificio de la pestafia del anclaje de la
tapa de la base de montaje e instale holgadamente el perno y la tuerca con
reborde de 3/8 pulg.-16 x 3/4 pulg. L. Repita este paso en el lado opuesto del
ventilador.

NOTA: Para aplicaciones de bisagra en pared lateral, se recomienda que
las bases de montaje tengan una reduccion de tamaio de 1,3 cm para las
bases de 30 pulg. y de 2,5 cm para las bases de 34 pulg. a 40 pulg.

Inserte cuatro pernos hexagonales de 5/16 pulg.-18 x 3/4 pulg. L en los orificios
de los rebordes ascendentes de la bisagra de la tapa de la base de montaje y en
las ranuras de la bisagra de la tapa de la base de montaje y apriete las tuercas
con reborde firmemente. Repita este paso en el otro lado del ventilador. Estos
sujetadores se pueden ver en la Figura 2. Este paso no aplica al juego 56JN73.

Antes de instalar los componentes de la bisagra, asegurese de que la mayor
parte del espacio entre la base de montaje y la tapa de esta esté en el lado
opuesto del tubo del respiradero y la canaleta de grasa para considerar la comba
cuando se cuelga.

En el lado elegido para la bisagra, inserte un perno de 1/2 pulg.-13 x 2,5 pulg. L

con arandela a través de la bisagra de la tapa de la base de montaje, la placa de
bisagra y el anclaje de la tapa de la base de montaje. Instale una arandela entre
la placa de bisagra y el anclaje de la tapa de la base de montaje.

Instale una arandela adicional en el interior del soporte de bisagra inferior.
Consulte la Figura 3. Cuando parezca que el perno de 1/2 pulg. se mueve
facilmente dentro y fuera del orificio, fije la placa de bisagra a la base de montaje
con los seis tornillos autorroscantes en los seis orificios de 1/4 pulg. en la placa.
Repita este paso en el otro lado con bisagra.

Figura 3

Llene los espacios entre la
placa de bisagra y el anclaje
de la tapa de la base de ~
montaje con arandelas de 1/2"



Dayton|

9. Con el perno hexagonal de 1/2 pulg.-13 para alineacion, alinee el anclaje
de bisagra de modo que los oficios de bloqueo permitan que pase el perno
de bloqueo de 1/4 pulg.-20 x 1,5 pulg. y fije la bisagra cerrada. Ademas,
asegurese de que el perno de 1/2 pulg. se pueda poner facilmente a través de
la bisagra de la tapa de la base de montaje, la placa de bisagra, el anclaje de la
tapa de la base de montaje y el anclaje de bisagra. Instale el anclaje de bisagra
en la base de montaje con los tres tornillos autorroscantes en los tres orificios
de 1/4 pulg. en el anclaje, consulte la Figura 4, Detalle C.

UVZN3IINOD Vivd

Repita este paso en el otro lado con bisagra. El anclaje de bisagra no se
incluye en 56JN73.

S3ANOIJVIIHI103dST
/[ avapnNo3as

4 4 4

3 Autorroscantes

Orificios de
bloqueo

/ ArVLNON

Z
9
>
>
>
Q
o
=

NOIOVd3dO

10. Con todos los componentes de bisagra instalados, coloque una arandela de
1/2 pulg. en el perno de 1/2 pulg. y fije la contratuerca de nylon. Asegurese
de que no esté demasiado apretado y sea dificil abrir la bisagra; esto podria
provocar demasiada tensién en los componentes de la bisagra. La Figura 5
muestra una bisagra terminada.

]

M i

SVYIN3T190dd 3d
NOIJVIIdILN3AI

Figura 5

NOIOVdVd3y
/ OLN3ININILNVIN



PARA COMENZAR

SEGURIDAD /
ESPECIFICACIONES

N

w
2
-
4
o
=

INSTALACION

OPERACION

IDENTIFICACION
DE PROBLEMAS

MANTENIMIENTO /
REPARACION

Dayton|

1.

12.

En el lado sin bisagra, coloque el picaporte como se muestra en la Figura

6, Detalle E con el perno hexagonal de 3/8 pulg.-16 x 5 pulg. L, la arandela

de 3/8 pulg. y una tuerca con reborde. Coloque la tuerca con reborde en el
picaporte; la tuerca deberia estar al revés, de modo que permita que el reborde
actie como un retén.

Mueva el picaporte hacia la bisagra de la tapa de la base de montaje hasta que
los rebordes orientados hacia adelante estén a un poco mas de 3,2 mm, como
se muestra en la Figura 6, Detalle E. Instale cuatro tornillos autorroscantes en
los orificios de 1/4 pulg., retire el perno de 3/8 pulg.-16 x 5 pulg. L, y coloque el
ultimo tornillo autorroscante en el orificio restante.

13.
14.

15.

16.

Figura 6

/

Deje una separacion de 3,2 a
6,4 mm entre los rebordes del
picaporte y la bisagra de la
tapa de la base de montaje

Repita los pasos 11y 12 en el otro lado de la unidad.

Asegurese de que las tuercas y pernos estén apretados. Retire los tornillos
autorroscantes de los anclajes de bisagra, placas de bisagra y picaportes. Retire
el ventilador de la base de montaje.

Siga las instrucciones de instalacion del fabricante de la base de montaje

e instalela a través de la pared. Asegurese de que la base de montaje esté
instalada en la orientacion correcta para la apertura hacia afuera hacia la
derecha o hacia la izquierda (no hacia arriba ni hacia abajo); marcar una pared
de la base de montaje como “Arriba” o “Abajo” puede ayudar.

Oriente el ventilador en la base de montaje con el tubo del respiradero orientado
hacia abajo. Vuelva a instalar los tornillos autorroscantes.



Dayton|

17. El picaporte, los pernos de bloqueo y las contratuercas en los orificios de
bloqueo son los medios para fijar la unidad con bisagra en posicion cerrada.
Vuelva a instalar el perno de 3/8 pulg.-16 x 5 pulg. L, la arandela y la tuerca con
reborde orientada hacia atras. Coloque una arandela y la contratuerca de nylon
de 3/8 pulg.-16 en el extremo del perno de 3/8 pulg.-16 x 5 pulg. L, como se ve
en la Figura 6, Detalle E, esto evitara que la tuerca con reborde sobresalga del
extremo del perno y se caiga.

UVZN3IINOD Vivd

18. Las Figuras 7 y 8 muestran donde se deben utilizar los pernos de bloqueo para
bloquear el juego de bisagra en posicion abierta o cerrada. Asegurese de que
cada perno esté firmemente apretado en el soporte con las tuercas con reborde
dentado incluidas para obtener los resultados mas eficaces.

©

Figura 7 Figura 8

m
9
m f
(2]
Ic
gE
o3
oo
Z\
m
wn

Punto de pivote
P Punto de pivote

€
CO‘ f@/ ©

‘ =
2 o o n=
o o =0
Punto de bloqueo >z
Cd
Punto de bloqueo > >
0 <
o o ol m
o 0 > =

| A PRECAUCION

Cuando abra las bisagras del ventilador, se deben insertar los pernos de bloqueo
en las posiciones de los orificios de bloqueo y se deben fijar para evitar un cierre
repentino.

NOIOVd3dO

EI movimiento forzoso de la bisagra del ventilador puede provocar dafios en la tapa
de la base de montaje. Tenga cuidado cuando mueva la bisagra del ventilador.

Cuando esté
abierto, deje
instalados los
pernos de
3/8"-16 x 5" L en
la bisagra de la
tapa de la base
de montaje

SVYIN3T190dd 3d
NOIJVIIdILN3AI

Tubo del respiradero y
canaleta de grasa
orientada hacia abajo

7

NOIOVdVd3y
/ OLN3ININILNVIN



GARANTIA LIMITADA DE DAYTON POR UN ANO

GARANTIA LIMITADA DE DAYTON POR UN ANO. Dayton Electric Mfg. Co. (“Dayton”) le garantiza al usuario
original que todos los modelos de los productos Dayton® tratados en este manual estan libres de defectos en la
mano de obra o el material, cuando se les somete a uso normal, por un afio a partir de la fecha de compra. Si el
producto Dayton es parte de un juego, sélo la parte defectuosa estd sujeta a esta garantia. Cualquier producto o
parte que se halle defectuoso, ya sea en el material o en la mano de obra, y sea devuelto (con los costos de envio
pagados por adelantado) a un centro de servicio autorizado designado por Dayton o por una entidad designada por
Dayton, serd reparado o reemplazado (no existe otra posibilidad) por un producto o parte nuevo o reacondicionado
de igual uso o se le reembolsard el costo total, segtin lo determine Dayton o una entidad designada por Dayton,
libre de costo. Para obtener informacién sobre los pr dimi de recl. cubiertos en la garantia limitada,

vea la seccion “Servicio de Garantla que aparece mds adelante. Se anularé esta garantia si se detecta evidencia
de mal uso, reparacion defe lefe abuso o modificacion. Esta garantia no cubre desgaste

y ruptura normal de los productos Dayton o parte de los mismos, o productos o partes de los mismos que se
pueden utilizar durante uso normal. Esta garantia limitada les otorga a los compradores derechos legales
especificos y también puede usted tener otros derechos que varien de jurisdiccion a jurisdiccion.

EXCLUSION DE RESPONSABILIDAD DE LA GARANTIA Y LIMITES DE RESPONSABILIDAD
RELACIONADOS A TODOS LOS CLIENTES PARA TODOS LOS PRODUCTOS

LIMITES DE RESPONSABILIDAD. EN LA MEDIDA EN QUE LAS LEYES APLICABLES LO PERMITAN, LA
RESPONSABILIDAD DE DAYTON POR LOS DANOS EMERGENTES O INCIDENTALES ESTA EXPRESAMENTE
EXCLUIDA. LA RESPONSABILIDAD DE DAYTON EXPRESAMENTE ESTA LIMITADA Y NO PUEDE EXCEDER EL
PRECIO DE COMPRA PAGADO POR EL ARTICULO.

EXCLUSION DE RESPONSABILIDAD DE LA GARANTIA. DAYTON SE HA ESFORZADO DILIGENTEMENTE
PARA PROPORCIONAR INFORMACION E ILUSTRACIONES APROPIADAS SOBRE EL PRODUCTO EN ESTE
MANUAL; SIN EMBARGO, ESTA INFORMACION Y LAS ILUSTRACIONES TIENEN COMO UNICO PROPOSITO LA
IDENTIFICACION DEL PRODUCTO Y NO EXPRESAN NI IMPLICAN GARANTIA DE QUE LOS PRODUCTOS SEAN
VENDIBLES O ADECUADOS PARA UN PROPOSITO EN PARTICULAR NI QUE SE AJUSTAN NECESARIAMENTE

A LAS ILUSTRACIONES O DESCRIPCIONES. CON EXCEPCION DE LO QUE SE ESTABLECE A CONTINUACION,
DAYTON NO HACE NI AUTORIZA NINGUNA GARANTIA O AFIRMACION DE HECHO, EXPRESA O IMPLICITA,

QUE NO SEA ESTIPULADA EN LA “GARANTIA LIMITADA” ANTERIOR.

ADAPTACION DEL PRODUCTO. MUCHAS JURISDICCIONES TIENEN CODIGOS O REGULACIONES SOBRE

LA VENTA, EL DISENO, LA INSTALACION Y/O EL USO DE PRODUCTOS PARA CIERTAS APLICACIONES; DICHAS
LEYES PUEDEN VARIAR DE UN AREA A OTRA. SI BIEN SE TRATA DE QUE LOS PRODUCTOS DAYTON CUMPLAN
CON DICHOS CODIGOS, NO SE PUEDE GARANTIZAR SU CONFORMIDAD Y NO SE PUEDE HACER RESPONSABLE
POR LA FORMA EN QUE SE INSTALE O USE SU PRODUCTO. ANTES DE COMPRAR Y USAR EL PRODUCTO,
REVISE LA INFORMACION DE SEGURIDAD/ESPECIFICACIONES, Y TODOS LOS CODIGOS Y REGULACIONES
NACIONALES Y LOCALES APLICABLES, Y ASEGURESE QUE EL PRODUCTO, LA INSTALACION Y EL USO LOS
CUMPLAN.

CONSUMIDOR SOLAMENTE. C/IERTOS ASPECTOS DE LIMITE DE RESPONSABILIDAD NO SE APLICAN A
PRODUCTOS AL CONSUMIDOR; ES DECIR (A) ALGUNAS JURISDICCIONES NO PERMITEN LA EXCLUSION NI
LIMITACION DE DANOS INCIDENTALES O CONSECUENTES, DE MODO QUE LAS LIMITACIONES O EXCLUSIONES
ANTERIORES QUIZAS NO APLIQUEN EN SU CASO; (B) ASIMISMO, ALGUNAS JURISDICCIONES NO PERMITEN
LIMITAR EL PLAZO DE UNA GARANTIA IMPLICITA, POR LO TANTO, LA LIMITACION ANTERIOR QUIZAS NO
APLIQUE EN SU CASO; Y (C) POR LEY, MIENTRAS LA GARANTIA LIMITADA ESTE VIGENTE NO PODRAN
EXCLUIRSE NI LIMITARSE EN MODO ALGUNO NINGUNA GARANTIA IMPLICITA DE COMERCIALIZACION O

DE IDONEIDAD PARA UN PROPOSITO EN PARTICULAR APLICABLES A LOS PRODUCTOS AL CONSUMIDOR
ADQUIRIDOS POR ESTE.

ESTA GARANTIA LIMITADA APLICA UNICAMENTE A LOS COMPRADORES EN LOS ESTADOS UNIDOS PARA
ENTREGA EN LOS ESTADOS UNIDOS.

SERVICIO DE GARANTIA

At

Para obtener un servicio de garantia si compré un pr cubierto dir de W.W. Grainger, Inc.

(“Grainger”), (i) escriba, llame o visite la sucursal local de Grainger donde compré el producto u otra sucursal

de Grainger cerca de usted (visite www.grainger.com para obtener una lista de las sucursales); o (ii) comuniquese

con Grainger visitando www.grainger.com y haga clic en el enlace “Contact Us” en la parte superior de la pdgina,

luego haga clic en enlace “Email us”; o (iii) Ilame a Servicio al Cliente (libre de cargo) al 1-888-361-8649. Para

obtener servicio de garantia si compré el producto cubierto a través de otro distribuidor o minorista, (i), visite

www.grainger.com para el Servicio de Garantia; (ii) escriba, llame o visite la sucursal de Grainger cerca de

usted; o (iii) lame a Servicio al Cliente (libre de cargo) al 1-888-361-8649. En cualquiera de los casos, necesitara

proporcionar, cuando esté disponible, la fecha de compra, el nimero de factura original, el nimero de pieza,

una descripcién del defecto, y cualquier otra informacién que especifique esta Garantia limitada de Dayton por

un afio. Se le podria solicitar que envie el producto a su propio coste para que lo inspeccionen. Puede hacer un
de los de las ins i y didas correctivas de la misma forma. El titulo y el riesgo de

perdlda pasa del comprador en el momento de la entrega a la companiia de transporte, por lo que si el producto

sufre daiios durante el transporte, presente un reclamo a la compaiiia transportista, no al minorista, Grainger

o Dayton. Para informacién sobre la garantia relac:onada a los compradores y/o entregas fuera de los Estados

Unidos, utilice la siguiente infor: ion de

g

Dayton Electric Mfg. Co.,
100 Grainger Parkway, Lake Forest, IL 60045 EE.UU.
o llame al +1-888-361-8649

p

DM_US 44930530-6.019350.0029 OCTUBRE 2021



Manuel d’utilisation

N75

484746




LIRE ET CONSERVER CES
INSTRUCTIONS.

IL FAUT LES LIRE ATTENTIVEMENT
AVANT DE COMMENCER A
ASSEMBLER, INSTALLER, FAIRE
FONCTIONNER OU ENTRETENIR
L’APPAREIL DECRIT.

POUR SE PROTEGER ET PROTEGER
AUTRUI, OBSERVER TOUTES LES
INFORMATIONS SUR LA SECURITE.
NEGLIGER D’APPLIQUER CES
INSTRUCTIONS PEUT CAUSER

DES BLESSURES ET/OU DES
DOMMAGES MATERIELS!
CONSERVER CES INSTRUCTIONS
POUR CONSULTATION ULTERIEURE.

SE REPORTER AU DOS DE LA
PRESENTE BROCHURE POUR LES
INFORMATIONS CONCERNANT LA
GARANTIE DAYTON ET D’AUTRES

INFORMATIONS IMPORTANTES.

N° de modéle :

N° de série :

Date d’achat :

Imprimé 585212 / Imprimé aux Etats-Unis
484746 Version 2  10/2021
© 2004 - 2021 Dayton Electric Manufacturing Co.
Tous droits réservés



Dayton|

=)
~Z
>>
AVANT DE COMMENCER ; g
A
Outillage nécessaire : m %
=
. Deux clés ou vis a six pans creux 3/4 po I'?1
. Une clé ou vis a six pans creux 9/16 po
. Une clé ou vis a six pans creux 1/2 po
o
. Une clé ou vis a six pans creux 7/16 po >
. Vis autoperceuses numéro 12 (qté : 28) et une meche pour les entrainer g r‘ﬁ
(5/16 po) r'||.| 8
- ]
DEBALLAGE @5
4 m
Attaches de fixation fournies g =
Qté |Description m
2 Vis a téte hexagonale de 1/4 po -20 x 1-1/2 po de long
2 Ecrou a embase striée de 1/4 po -20
8 Goujon a souder de 5/16 po -18 x 3/4 po de long = >
8 Vis a téte hexagonale a embase striée de 5/16 po -18 x 3/4 po de long* 9' %
16 | Ecrou a embase striée de 5/16 po -18 IE E
2 Vis a téte hexagonale a embase striée de 3/8 po -16 x 3/4 po de long ; ,g
2 Vis a téte hexagonale de 3/8 po -16 x 5 po de long* g B
6 Ecrou & embase stri¢e de 3/8 po -16 =z T
2 Contre-écrou a insert en nylon de 3/8 po -16*
4 Rondelle plate de 3/8 po*
2 Vis a téte hexagonale de 1/2 po -13 x 2 po de long
2 Contre-écrou a insert en nylon de 1/2 po -13 -
10 |Rondelle plate de 1/2 po =
* Non fourni(e) dans les trousses pour une taille de base de 30 po (modéle 56JN73) g
5
REMARQUE : Si le ventilateur est raccordé a une source d’alimentation %
électrique par un conducteur rigide, un électricien qualifié devra remplacer le
conducteur rigide par un conducteur souple suffisamment long en vertu du
code de I’électricité en vigueur pour permettre les mouvements du ventilateur.
Couper I'alimentation et suivre les procédures de
| A\ AVERTISSEMENT | €ouP ot Pr , o
verrouillage et d’étiquetage conformément au reglement -
OSHA (Title 29, Code of Federal Regulations, parties 1910.147 et 1910.333). ;
Z
4
>
@
m

Contréler :

. Aprés avoir déballé I'appareil, vérifier 'absence de tout dommage
éventuellement causé par le transport. Vérifier qu’il n’y a pas de pieces
desserrées, manquantes ou endommagées. Les réclamations pour dommages
dus au transport sont a adresser au transporteur.

NOILVYVdIY
[ NIILIH1INT



Numéro de piéce pour les modéles de ventilateurs a entrainement direct :

DEMARRAGE
DE L’APPAREIL

56JN86, 56IN97, 56UN87,
56JN88, 56JN89, 56JN90

56JN98, 56JN99, 56JP01,
56JP02, 56JP03, 56JN93,

56JN73

Numéro de piéce pour les modéles de ventilateur a entrainement par courroie :
56JN73 56JN74 56JN75

56JP09, 56JP10, 56JP11, 56JN96
56JP12, 56JP13, 56JN95

56JP04, 56JP05, 56JP06,
56JP07, 56JP08, 56JN94

CARACTERISTIQUES

SECURITE /

COMPOSANTS DE MONTAGE DE LA CHARNIERE

]
)
<
|
11]
=
w
(7]
)
<

INSTALLATION

UTILISATION

contre-écrous

DEPANNAGE

ENTRETIEN /
REPARATION

N

Repére Description Qteé
A Armature de couvercle de costiére 2
B Charniére de couvercle de costiére 2
(o} Plaque a charniere 2
D Armature de charniere* 2
E Loquet 2
* Non fournie dans les trousses pour une taille de base de
30 po (modéle 56JN73)

Vis PN

_ Goujon a souder de
5;;{3 po-13x2po 5/16 po -18 x 3/4 po de
rondellglés et long et écrous a embase

Vis de 3/8 po -16 x 3/4 po
de long et écrou a embase

Vis de 3/8 po -16 x 5 po
de long, écrou & embase
et contre-écrou

5 vis autoperceuses

3 vis
autoperceuses

Goujon a souder de
5/16 po -18 x 3/4 po
de long et écrou a embases

Charniére de couvercle de costiére
uniquement fournie dans le
modeéle 56JN73




Dayton|

Bo
m
=
INSTRUCTIONS D’INSTALLATION % :>u
o
REMARQUE : Il est conseillé de monter le matériel de charniére mural sur le ;JG §
ventilateur et la costiére dans une position verticale avant de I'orienter dans une m %
position murale. Cela permet d’assurer un alignement correct. L
1. Avant de poser 'appareil sur le dessus de la costiere et de réaliser le montage,
poser les goujons a souder de 5/16 po -18 x 3/4 po de long dans les orifices
de couvercle de costiére situés a environ 10 cm des coins, huit au total. Voir la g
Figure 1. §
()
O m
=40
mc
]
o5
= m
D -~
. [=
Figure 1 m
(72}

2. Fixer un écrou @ embase de 5/16 po -18 a la main sur chaque goujon a souder
de sorte que les tétes de goujon affleurent la surface interne du couvercle de
costiére. Lorsque tous les goujons a souder sont montés, placer I'appareil sur le
dessus de la costiere et retirer les écrous a embase.

A
gicn
>m
|—g
LE
22
oR

3.  Fixer les armatures de couvercle de costiere en retirant les deux vis des supports
verticaux de ventilateur. Centrer 'armature sur le couvercle de costiere et la fixer
a l'aide des deux vis de support vertical, puis le long de I'armature de couvercle
de costiére, visser sans les serrer deux écrous a embase sur les goujons a
souder installés a I'étape 1. Répéter cette étape pour I'autre coté du ventilateur.

Voir la Figure 2. (]
¢ 3
\\——QM/ o
Figure 2 n
>
‘ =
) ) o
Retirer les deux vis de support vertical 4
(clé 7/16 po) avant de monter chaque
o
%\
>
Z
Z
>
@
m

NOILVYVdIY
[ NIILIH1INT



Dayton|

W
O
é E 4. Le « cbté charniere » de la charniere de couvercle de costiere est I'extrémité
g < qui a les deux orifices rapprochés semblables aux orifices dans la plaque a
E =] charniére. A 'opposé du c6té charniére, aligner l'orifice de la charniére de
(=] g couvercle de costiére avec I'orifice de languette de 'armature de couvercle de
costiére et poser, sans les serrer, une vis de 3/8 po -16 x 3/4 po de long et un
écrou a embase. Répéter cette étape sur le coté opposé du ventilateur.
»n REMARQUE : Pour les applications murales relatives aux charniéres, il est
":J conseillé de choisir des tailles de costiéres inférieures de 1,3 cm aux tailles
E g de base de 30 po et inférieures de 2,5 cm aux tailles de base de 34 a 40 po.
E E 5. Insérer quatre vis a téte hexagonale de 5/16 po -18 x 3/4 po de long dans les
% 5 orifices des rebords orientés vers le haut de la charniere de couvercle de costiére
8 5 et dans les fentes de la charniére de couvercle de costiére, puis serrer les écrous
(7] é a embase sur les vis. Répéter cette étape sur I'autre coté du ventilateur. Ces
< attaches de fixation sont visibles dans la Figure 2. Cette étape ne fait pas partie
(] du montage pour la trousse 56JN73.

6. Avant d’installer les composants de charniére, s’assurer qu’une majorité de
I'espace entre la costiére et le couvercle de costiére se trouve sur le coté
opposé du tube de reniflard et de la gouttiére a graisse pour tenir compte de
I'affaissement lors de la suspension.

7. Surle coté choisi pour la charniére, insérer une vis de 1/2 po -13 x 2,5 po de
long avec une rondelle a travers la charniére de couvercle de costiére, la plaque
a charniére et 'armature de couvercle de costiere. Placer une rondelle entre la
plaque a charniére et 'armature de couvercle de costiere.

w
o
<
—
o
=
w
[
(7]
<

INSTALLATION

8.  Placer une rondelle supplémentaire sur l'intérieur du support de charniére
inférieur. Voir la Figure 3. Lorsque la vis de 1/2 po semble bouger facilement
dedans et en dehors de son trou, fixer la plaque a charniére sur la costiére a
I'aide de six vis autoperceuses dans les six trous de 1/4 po sur la plaque. Répéter

g cette étape pour l'autre c6té charniére.
=
<
2]
=
=
=
L
(U]
<
4
Z
E Figure 3
Remplir les espaces entre la
plaque a charniére et
I'armature de couvercle de
costiére de rondelles de 1/2 po
-2
4
&2
&
w
X <
=a
Z W
weye 4



Dayton|

9. Araide de la vis & téte hexagonale de 1/2 po -13 pour 'alignement, aligner
I'armature de charniére de sorte que les orifices de verrouillage permettent a
la vis de blocage de 1/4 po -20 x 1,5 po de long de passer a travers et fixer
la fermeture de charniere. S’assurer également que la vis de 1/2 po traverse
facilement la charniére de couvercle de costiére, la plaque a charniere,
'armature de couvercle de costiére et 'armature de charniére. Fixer 'armature
de charniere sur la costiere a 'aide de trois vis autoperceuses dans les trois
trous de 1/4 po sur I'armature; voir Figure 4, détail C.

T134vddVv.13d
JOVHHIVINIA

Répéter cette étape pour I'autre cété charniére. L'armature de charniére n’est
pas fournie dans le modéle 56JN73.

S3ANDILSIHILIVHVO
[ 3ALI™NDO3S

4 4 4

Orifices de
verrouillage

. e
3 vis autoperceuses

A
gicn
>m
|—g
LE
22
oR

NOLLVSITILN

10. Une fois tous les composants de charniére en place, mettre une rondelle de
1/2 po sur la vis de 1/2 po et fixer le contre-écrou en nylon. S’assurer qu’il n’est
pas trop serré a I'endroit ou il est difficile d’ouvrir la charniere; cela peut aussi
entrainer une contrainte trop importante sur les composants de charniére. La
Figure 5 illustre une charniére posée.

|

el

JI9VNNVd3ad

Figure 5

NOILVYVd3
[ NIILIH1INT



Dayton|

W
O
é E 11.  Sur le c6té sans charniére, positionner le loquet comme illustré dans la Figure 6,
g < détail E a I'aide de la vis a téte hexagonale de 3/8 po -16 x 5 po de long, de la
E - rondelle de 3/8 po et d’un écrou a embase. Faire passer I'écrou a embase dans
(=] g le loquet; I'écrou doit étre a I'envers, ce qui permet a 'embase d’agir comme une
prise.
12.  Amener le loquet vers la charniére de couvercle de costiére jusqu’a ce qu'il

»n soit espacé des rebords orientés vers I'avant d’'un peu plus de 3,2 mm comme

":J illustré dans la Figure 6, détail E. Installer quatre vis autoperceuses dans les
-~ g trous de 1/4 po, retirer la vis de 3/8 po -16 x 5 po de long et visser la derniére vis
'é '5 autoperceuse dans le trou restant.
T
>
O =
‘w O
° 5

<

(&)

w
(U]
-4
|
1]
=
i
(2]
(7]
<

INSTALLATION

UTILISATION

[

Laisser un espace de 3,2 a
6,4 mm entre les rebords de
loquet et la charniere de
couvercle de costiere

13. Répéter les étapes 11 et 12 sur l'autre coté de I'appareil.

14. Bien serrer tous les écrous/vis. Retirer les vis autoperceuses des armatures de
charniere, des plaques a charniére et des loquets. Retirer le ventilateur de la
costiére.

DEPANNAGE

15. Procéder a la pose de la costiere dans le mur en suivant les instructions de pose
du fabricant. S’assurer que la costiére est installée dans I'orientation correcte
pour une ouverture vers I'extérieur a droite ou a gauche (pas vers le haut ou vers
le bas). Un marquage sur la costiere indiquant le « haut » ou le « bas » du mur
peut aider.

16. Orienter le ventilateur sur la costiére, le tube de reniflard étant orienté vers le bas.
Reéinstaller les vis autoperceuses.

ENTRETIEN /
REPARATION



Dayton|

17. Le loquet et les vis/écrous de blocage dans les orifices de verrouillage sont
les moyens de fixation de I'appareil a charniére en position fermée. Réinstaller
la vis de 3/8 po -16 x 5 po de long, la rondelle et I'écrou a embase orienté en
sens inverse. Placer une rondelle et un contre-écrou en nylon de 3/8 po -16 sur
I'extrémité de la vis de 3/8 po -16 x 5 po de long comme illustré dans la Figure 6,
détail E, ce qui empéche I'écrou a embase de se dévisser de I'extrémité de la vis
et de tomber.

T134vddVv.13d
JOVHHIVINIA

18. Les Figures 7 et 8 illustrent ou utiliser la vis de blocage pour verrouiller la
charniére en position ouverte ou fermée. Faire en sorte de bien serrer toutes les
vis sur 'ensemble des supports a I'aide des écrous a embase striée pour obtenir
de meilleurs résultats.

/3L14ND3S

Figure 7 Figure 8

S3ANDILSIHILIVHVO

Point de pivotement
P ﬂﬁ Point de pivotement

N | o o z 5
o o Z’| m
Point de verrouillage > =
Point de verrouillage F o)
; : 55
o o o
zT
| A ATTENTION

Lorsque le ventilateur articulé est en position ouverte, les vis de blocage doivent étre
insérées dans les positions des orifices de verrouillage et fixées pour empécher une
fermeture soudaine.

Si I'on force sur I'articulation du ventilateur, cela peut entrainer des dommages sur le
couvercle de costiére du ventilateur. User de précautions lors de la manipulation de
I'articulation.

(=
=
=
5
=)
(©)
z

En position

d’ouverture,
laisser des vis de
3/8 po -16 x 5 po
de long en place
dans la charniére
de couvercle de
costiere

JI9VNNVd3ad

[ NIILIH1INT

Tube de reniflard et
gouttiére a graisse
orientés vers le bas

7

NOILVYVd3



GARANTIE LIMITEE D’UN AN FOURNIE PAR DAYTON

GARANTIE LIMITEE D’'UN AN FOURNIE PAR DAYTON. Tous les modéles de produits Dayton® couverts
dans ce manuel sont garantis par Dayton Electric Mfg. Co. (« Dayton ») au premier utilisateur contre tout défaut de
fabrication ou de matériau, dans des conditions d’utilisation normales durant un an a compter de la date d’achat.
Si le produit Dayton fait partie d’un ble, seul le P du produit présentant un défaut est couvert par
la présente garantie. Tout produit ou toute piéce présentant un défaut de fabrication ou de matériau et retourné(e) a
un centre de service agréé désigné par Dayton ou par un représentant désigné de Dayton, port payé, sera a titre de
recours exclusif, réparé(e) ou remplacé(e) par un produit neuf ou une piéce neuve, ou par un produit ou une piéce
remis a neuf d’utilité égale, ou fera I'objet d’un remboursement intégral, au choix de Dayton ou d’un représentant
désigné de Dayton, sans frais. Voir les procédures de réclamation sous garantie limitée sous la rubrique « Service
de garantie » ci-aprés. La présente garantie est annulée en cas de preuve de mésusage, de réparation défectueuse,
d’installation défectueuse, d’utilisation abusive ou de modification. La présente garantie ne couvre pas l'usure
normale des produits Dayton ou des composants de ces produits, ou des produits ou des composants de ces
produits qui sont consommables durant une utilisation normale. La présente garantie limitée donne aux acheteurs
des droits spécifiques et il est égals P ible de bénéficier d’autres droits qui varient selon les juridictions.

CLAUSES D’EXONERATION DE GARANTIE ET LIMITES DE RESPONSABILITE CONCERNANT
TOUS LES CLIENTS POUR TOUS LES PRODUITS

LIMITES DE RESPONSABILITE. DANS LA MESURE PERMISE AU TITRE DE LA LOI APPLICABLE, DAYTON
DECLINE EXPRESSEMENT TOUTE RESPONSABILITE POUR TOUT DOMMAGE ACCESSOIRE ET INDIRECT. LA
RESPONSABILITE DE DAYTON EST DANS TOUS LES CAS LIMITEE ET NE SAURAIT DEPASSER LE PRIX D’ACHAT.

CLAUSE D’EXONERATION DE GARANTIE. DAYTON S’EST DILIGEMMENT EFFORCEE D’ILLUSTRER ET
DE DECRIRE DE MANIERE EXACTE LES PRODUITS DE CETTE BROCHURE. CEPENDANT, CES ILLUSTRATIONS
ET CES DESCRIPTIONS NE SONT DONNEES QU’A TITRE D’IDENTIFICATION ET NE GARANTISSENT PAS
EXPRESSEMENT OU IMPLICITEMENT QUE LES PRODUITS SONT DE QUALITE MARCHANDE OU ADAPTES

A UN USAGE PARTICULIER, OU QU’ILS SERONT NECESSAIREMENT CONFORMES AUX ILLUSTRATIONS

OU AUX DESCRIPTIONS FOURNIES. SAUF DISPOSITIONS CONTRAIRES CI-DESSOUS, AUCUNE GARANTIE
OU AFFIRMATION DE FAIT, EXPRESSE OU IMPLICITE, AUTRE QUE CELLE ENONCEE A LA RUBRIQUE

« GARANTIE LIMITEE » CI-DESSUS, N’EST FOURNIE OU AUTORISEE PAR DAYTON.

CONFORMITE DU PRODUIT. DANS DE NOMBREUSES JURIDICTIONS, LES CODES ET LES REGLEMENTATIONS
QUI REGISSENT LES VENTES, LA CONSTRUCTION, L’INSTALLATION ET/OU L’UTILISATION DE PRODUITS POUR
CERTAINS USAGES PEUVENT ETRE DIFFERENTS DE CEUX DE REGIONS AVOISINANTES. BIEN QUE DAYTON SE
SOIT EFFORCEE DE RENDRE SES PRODUITS CONFORMES A CES CODES, LA SOCIETE NE PEUT EN GARANTIR
LA CONFORMITE ET NE SAURAIT ETRE RESPONSABLE DE LA MANIERE DONT LES PRODUITS SONT INSTALLES
OU UTILISES. AVANT D’ACHETER ET D’UTILISER UN PRODUIT, IL EST CONSEILLE D’ETUDIER LES DIRECTIVES
DE SECURITE/CARACTERISTIQUES TECHNIQUES AINSI QUE LES CODES ET REGLEMENTATIONS NATIONAUX

ET LOCAUX APPLICABLES, ET DE S’ASSURER DE LA CONFORMITE A CES CODES DE CES PRODUITS, DE LEUR
INSTALLATION ET DE LEUR UTILISATION.

CONSOMMATEURS SEULEMENT. CERTAINS ASPECTS DES DENIS DE GARANTIE NE SONT PAS
APPLICABLES AUX PRODUITS DE CONSOMMATION VENDUS AUX CONSOMMATEURS; (A) CERTAINES
JURIDICTIONS N’AUTORISENT PAS L’EXCLUSION OU LA LIMITATION DES DOMMAGES ACCESSOIRES OU
INDIRECTS, DE SORTE QUE LA LIMITATION OU L’EXCLUSION SUSMENTIONNEE PEUT NE PAS S’APPLIQUER A
VOTRE CAS; (B) EN OUTRE, CERTAINES JURIDICTIONS N’AUTORISENT PAS DE LIMITE SUR LA DUREE D'UNE
GARANTIE IMPLICITE, PAR CONSEQUENT LA LIMITE SUSMENTIONNEE PEUT NE PAS S’APPLIQUER A VOTRE
CAS; ET (C) EN VERTU DE LA LOI, DURANT LA PERIODE DE GARANTIE LIMITEE, TOUTE GARANTIE IMPLICITE

DE QUALITE MARCHANDE OU D’ADEQUATION A UN USAGE PARTICULIER APPLICABLE AUX PRODUITS DE
CONSOMMATION ACHETES PAR DES CONSOMMATEURS, EST SUSCEPTIBLE DE NE PAS POUVOIR ETRE EXCLUE
OU AUTREMENT DENIEE.

LA PRESENTE GARANTIE LIMITEE S’APPLIQUE SEULEMENT AUX ACHETEURS AUX ETATS-UNIS POUR UNE
LIVRAISON A L'INTERIEUR DES ETATS-UNIS.

SERVICE DE GARANTIE

Pour obtenir le service de garantie si le produit couvert a été acheté directement auprés de W.W. Grainger, Inc.

(« Grainger »), (i) écrire, téléphoner a la succursale ou visiter la succursale locale de Grainger auprés de laquelle
le produit a été acheté ou une autre succursale de Grainger a proximité (consulter le site www.grainger.com

pour obtenir la liste des succursales de Grainger); ou (ii) iq avec Grainger en se rendant sur le site
www.grainger.com et en cliquant sur le lien « Contact Us » en haut de la page, puis sur le lien « Email us »; ou

(iii) appeler le service clientéle (sans frais) en composant le 1-888-361-8649. Pour obtenir le service de garantie

si le produit couvert a été acheté auprés d’un autre distributeur ou d’un autre détaillant, (i) se rendre sur le site
www.grainger.com pour obtenir le service de garantie; (ii) écrire, téléphoner a une succursale ou visiter une
succursale de Grainger a proximité; ou (iii) appeler le service clientéle (sans frais) en composant le 1-888-361-8649.
Dans tous les cas, il sera nécessaire de fournir dans la mesure du possible, la date d’achat, le numéro d’origine

de la facture, le numéro de stock, une description du défaut et tout autre élément spécifié en vertu de la présente
garantie limitée d’un an de Dayton. Il sera peut-étre exigé de r yer le produit moy certains frais pour qu’il
soit vérifié. Il est possible d’obtenir un suivi quant aux vérifications et aux modifications en cours par les moyens
indiqués. Le titre et le risque de perte passe de I’acheteur au transporteur public lors de la livraison, par conséquent

si le produit est endommagé pendant son transport, toute ré: ion doit étre dé Se auprés du transporteur, et
non pas auprés du détaillant, Gralnger ou Dayton. Pour toute information sur la garantle concernant les acheteurs
et/ou une livraison a 'extérieur des Etats-Unis, utiliser les infor i de licables :

Dayton Electric Mfg. Co.,
100 Grainger Parkway, Lake Forest, IL 60045 Etats-Unis
ou composer le +1-888-361-8649

DM_US 44930530-6.019350.0029 OCTOBRE 2021



